Some set-operators on ideal topological spaces

Sk Selim¹, Takashi Noiri² and Shyamapada Modak^{1*}

 ¹ Department of Mathematics, University of Gour Banga Malda 732 103, West Bengal, India
² 2949-1 Shiokita-cho, Hinagu, Yatsushiro-shi, Kumomoto-ken 869-5142 JAPAN Email:spmodak2000@yahoo.co.in

(Received: May 2, 2021, Accepted: September 20, 2021)

Abstract

This paper concerns new set-operators in topological spaces with ideals. These new set-operators will construct the joint compliance of the local function and its complement set-operator ψ . Various relations among the new set-operators are the main part of this paper. These set-operators also characterize the Hayashi-Samuel spaces.

1 Introduction and Preliminaries

If (X, τ) is a topological space and \mathcal{I} is an ideal [12, 21] on X, then for $A \subseteq X$, the local function [12, 21] is defined as $A^*(\mathcal{I}, \tau) = \{x \in X : U_x \cap A \notin \mathcal{I}\},\$

Keywords and phrases: Ideal, Local function, ψ -operator, Hayashi-Samuel space, Closure operator 2020 AMS Subject Classification: 54A05

*Corresponding Author

where $U_x \in \tau(x)$, the collection of all open sets containing x. $A^*(\mathcal{I}, \tau)$ is simply denoted as $A^*(\mathcal{I})$ or A^* . For the simplest ideals $\{\emptyset\}$ and $\wp(X)$ (the power set of X), we observe that $A^*(\{\emptyset\}) = cl(A)$ (cl(A) denotes the closure of A) and $A^*(\wp(X)) = \emptyset$ for every $A \subseteq X$.

The complement set-operator of the set-operator ()* is ψ [17] and it is defined as $\psi(A) = X \setminus (X \setminus A)^*$. It is notable that ()* is not a closure operator and ψ is not an interior operator. However, the set operator $C : \wp(X) \to \wp(X)$ defined by $C(A) = A \cup A^*$ makes a closure operator [11, 12, 21] and it is denoted as ' cl^* ', that is $cl^*(A) = A \cup A^*$. This closure operator induces a topology on X and it is called *-topology [1, 8, 9, 10, 14, 20]. This topology denoted as $\tau^*(\mathcal{I})$ (or simply τ^*) and its interior operator is denoted as ' int^* '. The study of local function and ψ operator in the different type of spaces are also interesting field (see [2], [3] and [4]).

In the study of ideal topological spaces, two ideals are important: one is codense ideal [7]; and another is compatible ideal [19]. An ideal \mathcal{I} on a topological space (X, τ) is called a codense ideal if $\mathcal{I} \cap \tau = \{\emptyset\}$. Such type of spaces are called Hayashi-Samuel spaces [6]. Some authors called it τ -boundary [8, 18].

In this paper, by using ()* and ψ -operator, we introduce some new types of set-operators. These new set-operators give us new characterizations of Hayashi-Samuel spaces and various relationships between ()* and ψ operator.

Hereafter, we shall use the following propositions:

Proposition 1.1. [11] Let (X, τ) be a topological apace and \mathcal{I} and \mathcal{J} be two ideals on X. Then for $A \subseteq X$, $A^*(\mathcal{I} \cap \mathcal{J}) = A^*(\mathcal{I}) \cup A^*(\mathcal{J})$.

Proposition 1.2. Let (X, τ) be a topological apace and \mathcal{I} and \mathcal{J} be two ideals on *X*. Then for $A \subseteq X$, $\psi_{\mathcal{I} \cap \mathcal{J}}(A) = \psi_{\mathcal{I}}(A) \cap \psi_{\mathcal{J}}(A)$.

Proof. $\psi_{\mathcal{I}\cap\mathcal{J}}(A) = X \setminus (X \setminus A)^* (\mathcal{I}\cap\mathcal{J}) = X \setminus [(X \setminus A)^* (\mathcal{I}) \cup (X \setminus A)^* (\mathcal{J})] = [X \setminus (X \setminus A)^* (\mathcal{I})] \cap [X \setminus (X \setminus A)^* (\mathcal{J})] = \psi_{\mathcal{I}}(A) \cap \psi_{\mathcal{J}}(A).$

2 \forall , $\overline{\land}$ and \lor operators

We define the operator \forall on an ideal topological space (X, τ, \mathcal{I}) in the following way: for a subset A of $X, \forall (A) = \psi(A) \cap \psi(X \setminus A)$.

This is a set valued function $\forall : \wp(X) \to \wp(X)$ and its value is an open set. Thus, for $A \subseteq X, \forall (A)$ is a semi-open set [13], ψ -C set [15], ψ set [5], λ -open [16].

The following example shows that $\psi(A) \cap \psi(X \setminus A)$ is not always an empty set.

Example 2.1. Let $X = \{a, b, c\}, \ \tau = \{\emptyset, X, \{a\}\}$ and $\mathcal{I} = \{\emptyset, \{a\}\}$. Then $\psi(\{a, c\}) = X \setminus (\{b\})^* = X \setminus \{b, c\} = \{a\}$ and $\psi(\{b\}) = X \setminus (\{a, c\})^* = X \setminus \{b, c\} = \{a\}$. Hence $\psi(\{a, c\}) \cap \psi(X \setminus (\{a, c\})) = \{a\}$.

Lemma 2.1. Let (X, τ, \mathcal{I}) be an ideal topological space. Then $\forall (A) = X \setminus X^*$ for every subset A of X.

Proof. For any subset A of X, $\forall (A) = \psi(A) \cap \psi(X \setminus A) = [X \setminus (X \setminus A)^*] \cap (X \setminus A^*) = X \setminus [(X \setminus A)^* \cup A^*] = X \setminus [(X \setminus A) \cup A]^* = X \setminus X^*.$

Theorem 2.1. Let (X, τ, \mathcal{I}) be an ideal topological space and $A \subseteq X$. Then $\forall (A) = \psi(A) \setminus A^*$.

Proof. The proof is obvious.

Corollary 2.1. Let (X, τ, \mathcal{I}) be an ideal topological space and $A \subseteq X$. If $\psi(A) \subseteq A^*$, then $\forall (A) = \emptyset$.

Theorem 2.2. Let (X, τ, \mathcal{I}) be a Hayashi-Samuel space and $A \subseteq X$. Then $\forall (A) = \emptyset$.

Proof. The proof is obvious from Lemma 2.1.

Lemma 2.2. [15] Let (X, τ, \mathcal{I}) be a Hayashi-Samuel space and $A \subseteq X$. Then $\psi(A) \subseteq A^*$.

Theorem 2.3. Let (X, τ, \mathcal{I}) be an ideal topological space and $A \subseteq X$. Then $\forall (A) = \psi(X \setminus A)$ if and only if $X \setminus A^* \subseteq \psi(A)$.

Theorem 2.4. Let (X, τ, \mathcal{I}) be an ideal topological space and $A \subseteq X$. Then the following statements hold:

- 1. $\forall (A) = \forall (X \setminus A).$
- 2. $\forall (\emptyset) = \forall (X) = X \setminus X^*$.
- 3. $\forall (A) \supseteq A \setminus A^*$ for $A \in \tau^*(\mathcal{I})$.
- 4. $\forall (A) \supseteq A \setminus A^*$ for $A \in \tau$.
- 5. $\forall (A) = A \setminus A^*$ for a regular open set A.
- 6. $X \setminus \forall (A) = X^*$.
- 7. $\forall (A) = \forall [\psi(A)].$
- 8. $\forall (A) \subseteq A^* \cap (X \setminus A)^*$ if the space is Hayashi-Samuel.
- 9. $\forall (A) \subseteq \psi(\forall (A)).$
- 10. $\forall (A) \cap A = int^*(A) \cap \psi(X \setminus A) = int^*(A) \setminus A^*.$
- 11. $\forall (A) \setminus A = int^*(X \setminus A) \cap \psi(A) = \psi(A) \setminus cl^*(A).$

Proof. 1, 2, 6 and 7 are obvious from Lemma 2.1.

8. By Lemma 2.2, $\forall (A) = \psi(A) \cap \psi(X \setminus A) \subseteq A^* \cap (X \setminus A)^*$.

9. By Lemma 2.1, $\forall (A) = X \setminus X^*$ and it is open. Since $\tau \subseteq \tau^*$, $\forall (A)$ is τ^* -open and by Theorem 1 of [8] $\forall (A) \subseteq \psi(\forall (A))$.

 $10. \ \forall (A) \cap A = \psi(A) \cap A \cap \psi(X \setminus A) = [X \setminus (X \setminus A)^*] \cap A \cap \psi(X \setminus A) = int^*(A) \cap \psi(X \setminus A) = int^*(A) \cap \psi(X \setminus A) = int^*(A) \setminus A^*.$ $11. \ \forall (A) \setminus A = \psi(X \setminus A) \cap (X \setminus A) \cap \psi(A) = (X \setminus A^*) \cap (X \setminus A) \cap \psi(A) = int^*(X \setminus A) \cap \psi(A) = [X \setminus cl^*(A)] \cap \psi(A) = \psi(A) \setminus cl^*(A).$ **Remark 2.1.** Let (X, τ, \mathcal{I}) be an ideal topological space and $A, B \subseteq X$. Then $A \subseteq B$ implies that neither $\forall (A) \subseteq \forall (B)$ nor $\forall (B) \subseteq \forall (A)$.

Theorem 2.5. Let (X, τ) be a topological space and \mathcal{I} and \mathcal{J} be two ideals on X. Then $\forall [A(\mathcal{I} \cap \mathcal{J})] = \forall [A(\mathcal{I})] \cap \forall [A(\mathcal{J})].$

Proof.
$$\leq [A(\mathcal{I} \cap \mathcal{J})] = \psi_{\mathcal{I} \cap \mathcal{J}}(A) \setminus A^*(\mathcal{I} \cap \mathcal{J}) = [\psi_{\mathcal{I}}(A) \cap \psi_{\mathcal{J}}(A)] \setminus [A^*(\mathcal{I}) \cup A^*(\mathcal{J})] = [\psi_{\mathcal{I}}(A) \setminus A^*(\mathcal{I})] \cap [\psi_{\mathcal{J}}(A) \setminus A^*(\mathcal{J})] = \leq [A(\mathcal{I})] \cap \leq [A(\mathcal{J})].$$

Corollary 2.2. Let (X, τ) be a topological space and $\mathcal{I}_1, \mathcal{I}_2, \ldots, \mathcal{I}_n$ be ideals on *X*. Then $\forall [A(\bigcap_i \mathcal{I}_i)] = \bigcap_i \forall [A(\mathcal{I}_i)].$

We define the operator $\overline{\wedge}$ on an ideal topological space (X, τ, \mathcal{I}) in the following way: for a subset A of $X, \overline{\wedge}(A) = A \setminus A^*$. Since A^* is closed, then for $U \in \tau, \overline{\wedge}(U)$ is open. Again for $U \in \tau^*(\mathcal{I}), \overline{\wedge}(U)$ is open in $(X, \tau^*(\mathcal{I}))$.

Theorem 2.6. Let (X, τ, \mathcal{I}) be an ideal topological space and $A, B \subseteq X$. Then the following properties hold:

- 1. $\overline{\wedge}(\emptyset) = \emptyset$.
- 2. $\overline{\wedge}(X) = \emptyset$ if $\mathcal{I} \cap \tau = \{\emptyset\}$.
- 3. $\overline{\wedge}(I) = I$ if $I \in \mathcal{I}$.
- 4. $\overline{\wedge}[\overline{\wedge}(A)] \subseteq \overline{\wedge}(A)$.
- 5. $\overline{\wedge}(A) \cap A^* = \emptyset$.
- 6. $\overline{\wedge}(A \cup B) = [\overline{\wedge}(A) \setminus B^*] \cup [\overline{\wedge}(B) \setminus A^*].$
- 7. $\overline{\wedge}[\overline{\wedge}(A)] \subseteq A$.
- 8. $\overline{\wedge}(X \setminus A) = \psi(A) \setminus A$.
- 9. $X \setminus \overline{\wedge}(X \setminus A) = (X \setminus A)^* \cup A.$

10. $\overline{\land}(A) \cap \overline{\land}(B) = (A \cap B) \setminus (A \cup B)^*$.

 $\begin{array}{l} \textit{Proof. } 4. \ \overline{\wedge}[\overline{\wedge}(A)] = \overline{\wedge}(A \setminus A^*) = (A \setminus A^*) \setminus (A \setminus A^*)^* \subseteq (A \setminus A^*) = \overline{\wedge}(A). \\ 6. \ \overline{\wedge}(A \cup B) = (A \cup B) \setminus (A \cup B)^* = (A \cup B) \setminus (A^* \cup B^*) = [(A \setminus A^*) \setminus B^*] \cup \\ [(B \setminus B^*) \setminus A^*] = (\overline{\wedge}(A) \setminus B^*) \cup (\overline{\wedge}(B) \setminus A^*). \\ 7. \ \overline{\wedge}[\overline{\wedge}(A)] = \overline{\wedge}(A \setminus A^*) = (A \setminus A^*) \setminus (A \setminus A^*)^* \subseteq A. \\ 8. \ \overline{\wedge}(X \setminus A) = [X \setminus A] \setminus [X \setminus A]^* = [X \setminus A] \setminus [X \setminus \psi(A)] = \psi(A) \setminus A. \\ 9. \ X \setminus \overline{\wedge}(X \setminus A) = X \setminus [(X \setminus A) \setminus (X \setminus A)^*] = A \cup (X \setminus A)^*. \\ 10. \ \overline{\wedge}(A) \cap \overline{\wedge}(B) = (A \setminus A^*) \cap (B \setminus B^*) = (A \cap B) \setminus A^* \setminus B^* = (A \cap B) \cap (X \setminus A^*) \cap (X \setminus B^*) = (A \cap B) \cap (X \setminus (A \cup B)^*) = \\ (A \cap B) \setminus (A \cup B)^*. \end{array}$

Theorem 2.7. Let (X, τ) be a topological space and \mathcal{I} , \mathcal{J} be two ideals on X. Then $\overline{\wedge}[A(\mathcal{I} \cap \mathcal{J})] = \overline{\wedge}[A(\mathcal{I})] \cap \overline{\wedge}[A(\mathcal{J})].$

 $\begin{array}{l} \textit{Proof.} \ \bar{\wedge}[A(\mathcal{I} \cap \mathcal{J})] = A \setminus A^*(\mathcal{I} \cap \mathcal{J}) = A \setminus [A^*(\mathcal{I}) \cup A^*(\mathcal{J})] = [A \setminus A^*(\mathcal{I})] \cap \\ [A \setminus A^*(\mathcal{J})] = \bar{\wedge}[A(\mathcal{I})] \cap \bar{\wedge}[A(\mathcal{J})]. \end{array}$

Corollary 2.3. Let (X, τ) be a topological space and $\mathcal{I}_1, \mathcal{I}_2, \ldots, \mathcal{I}_n$ be ideals on *X*. Then $\overline{\wedge}[A(\bigcap_i \mathcal{I}_i)] = \bigcap_i \overline{\wedge}[A(\mathcal{I}_i)].$

Theorem 2.8. Let (X, τ, \mathcal{I}) be an ideal topological space and $A \subseteq X$. Then $\overline{\wedge}(A) = \emptyset$ if and only if $cl^*(A) = A^*$.

Proof. Suppose $\overline{\wedge}(A) = \emptyset$. Then $A \setminus A^* = \emptyset$ implies $A \subseteq A^*$. Thus, $cl^*(A) = A \cup A^* = A^*$.

Conversely suppose that $cl^*(A) = A^*$. Then, $A \cup A^* = A^*$ implies $A \subseteq A^*$. Thus, $A \setminus A^* = \emptyset$, and hence $\overline{\wedge}(A) = \emptyset$.

Theorem 2.9. Let (X, τ, \mathcal{I}) be an ideal topological space and $A \subseteq X$. If $x \in \overline{\wedge}(A)$, then $\{x\} \in \mathcal{I}$.

Proof. Let $x \in \overline{\wedge}(A)$. Then $x \in A$ and $x \notin A^*$. Hence, there is an open set U_x containing x such that $U_x \cap A \in \mathcal{I}$. Then $\{x\} \subseteq U_x \cap A \in \mathcal{I}$. So $\{x\} \in \mathcal{I}$. \Box

Theorem 2.10. Let (X, τ, \mathcal{I}) be an ideal topological space and $x \in X$. Then $x \in \overline{\wedge}(\{x\})$ if and only if $\{x\} \in \mathcal{I}$.

Proof. Let $\{x\} \in \mathcal{I}$. Thus for all open set U_x containing $x, U_x \cap \{x\} \subseteq \{x\} \in \mathcal{I}$. This implies that $x \notin \{x\}^*$. Again $x \in \{x\}$, then $x \in \overline{\wedge}(\{x\})$.

We define the operator \land on an ideal topological space (X, τ, \mathcal{I}) in the following way: for a subset A of X, $\land(A) = \psi(A) \setminus A$. If $U \in \tau$ or $U \in \tau^*(\mathcal{I})$ and $\mathcal{I} \cap \tau = \{\emptyset\}$, then $\land(U) = \emptyset$. Further for any $A \subseteq X$ and $\mathcal{I} \cap \tau = \{\emptyset\}$, $\overline{\land}(A) \supseteq \land(A)$.

Theorem 2.11. Let (X, τ, \mathcal{I}) be an ideal topological space and $A, B \subseteq X$. Then the following statements hold:

- $1. \ \land(\emptyset) = \emptyset \text{ if } \mathcal{I} \cap \tau = \{\emptyset\}.$
- 2. $\wedge(X) = \emptyset$.
- 3. $\wedge(I) = \emptyset$ if $\mathcal{I} \cap \tau = \{\emptyset\}$ and $I \in \mathcal{I}$.
- 4. $\wedge(A) = (X \setminus A) \setminus (X \setminus A)^*$.
- 5. $\wedge(A) \cap \wedge(B) \subseteq \wedge(A \cup B)$.
- 6. $\wedge (A \cap B) = [\wedge (A) \cap \psi(B)] \cup [\wedge (B) \cap \psi(A)] \subseteq \wedge (A) \cup \wedge (B).$
- 7. $\wedge(\wedge(A)) \subseteq \wedge(\psi(A)) \cup \psi(\psi(A)).$
- 8. $\forall (A) \subseteq \psi(\land(A)).$
- 9. $[\wedge(A)]^* \subseteq (\psi(A))^*$.
- 10. $[\wedge(A)]^* \subseteq A^*$ if $\mathcal{I} \cap \tau = \{\emptyset\}.$

11. $\wedge(A) \cap A = \emptyset$.

12. $\wedge (A^*) = \emptyset$ if $\mathcal{I} \cap \tau = \{\emptyset\}$.

13.
$$\wedge(A) \cup \wedge(B) \subseteq (A \cap \wedge(B)) \cup \wedge(A \cup B) \cup (\wedge(A) \cap B).$$

Proof. 5. $\land (A \cup B) = \psi(A \cup B) \setminus (A \cup B) = [\psi(A \cup B) \setminus A] \cap [\psi(A \cup B) \setminus B] \supseteq (\psi(A) \setminus A) \cap (\psi(B) \setminus B) = \land (A) \cap \land (B).$

 $6. \land (A \cap B) = \overline{\land} (X \setminus (A \cap B)) = \overline{\land} ((X \setminus A) \cup (X \setminus B)) = [\overline{\land} (X \setminus A) \setminus (X \setminus B)] \cup$ $\left[\overline{\wedge}(X \setminus B) \setminus (X \setminus A)^*\right]$ (Theorem 2.6) = $\left[\wedge(A) \setminus (X \setminus B)^*\right] \cup \left[\wedge(B) \setminus (X \setminus A)^*\right]$ = $[\wedge(A) \cap (X \setminus (X \setminus B)^*] \cup [\wedge(B) \cap (X \setminus (X \setminus A)^*)] = [\wedge(A) \cap \psi(B)] \cup [\wedge(B) \cap \psi(A)] \subseteq [\wedge(A) \cap \psi(A)] \cup [\wedge(B) \cap \psi(A)] \subseteq [\wedge(A) \cap \psi(A)] \cup [(A) \cap (A) \cap (A) \cap (A)] \cup [(A) \cap (A) \cap (A) \cap (A)] \cup [(A) \cap (A) \cap (A)) \cup (A)] \cup [(A) \cap (A) \cap (A)) \cup (A)) \cup [(A) \cap (A) \cap (A)) \cup (A)) \cup (A)) \cup [(A) \cap (A) \cap (A)) \cup (A)) \cup (A)) \cup (A)) \cup (A) \cup (A) \cap (A)) \cup (A) \cup (A)) \cup (A) \cup (A) \cap (A)) \cup (A) \cup (A)) \cup (A) \cup (A) \cap (A)) \cup (A) \cup (A) \cup (A) \cup (A)) \cup (A) \cup (A)) \cup (A) \cup$ $\wedge(A) \cup \wedge(B).$ 7. $\wedge(\wedge(A)) = \psi(\wedge(A)) \setminus \wedge(A) = \psi[\psi(A) \setminus A] \setminus \wedge(A) \subseteq \psi(\psi(A)) \setminus [\psi(A) \setminus A] =$ $[\psi(\psi(A)) \setminus \psi(A)] \cup [\psi(\psi(A)) \cap A] \subseteq \land(\psi(A)) \cup \psi(\psi(A)).$ 8. $\psi(\wedge(A)) = X \setminus [X \setminus \wedge(A)]^* = X \setminus [X \setminus (\psi(A) \setminus A)]^* = X \setminus [(X \setminus \psi(A)) \cup A]^* =$ $X \setminus [(X \setminus A)^* \cup A)]^* = X \setminus [(X \setminus A)^{**} \cup A^*] = \{X \setminus (X \setminus A)^{**}\} \cap (X \setminus A^*) \supseteq \{(X \setminus A)^{**}\} \cap (X \setminus A^*) \supseteq \{(X \setminus A)^{**}\} \cap (X \setminus A)^{**} = \{X \setminus (X \setminus A)^{**}\} \cap (X \setminus A)^{**} = \{X \setminus (X \setminus A)^{**}\} \cap (X \setminus A)^{**} = \{X \setminus (X \setminus A)^{**}\} \cap (X \setminus A)^{**} = \{X \setminus (X \setminus A)^{**}\} \cap (X \setminus A)^{**} = \{X \setminus (X \setminus A)^{**}\} \cap (X \setminus A)^{**} = \{X \setminus (X \setminus A)^{**}\} \cap (X \setminus A)^{**} = \{X \setminus (X \setminus A)^{**}\} \cap (X \setminus A)^{**} = \{X \setminus (X \setminus A)^{**}\} \cap (X \setminus A)^{**} = \{X \setminus (X \setminus A)^{**}\} \cap (X \setminus A)^{**} = \{X \setminus (X \setminus A)^{**}\} \cap (X \setminus A)^{**} = \{X \setminus (X \setminus A)^{**}\} \cap (X \setminus A)^{**} = \{X \setminus (X \setminus A)^{**}\} \cap (X \setminus A)^{**} = \{X \setminus (X \setminus A)^{**}\} \cap (X \setminus A)^{**} = \{X \setminus (X \setminus A)^{**}\} \cap (X \setminus A)^{**} = \{X \setminus (X \setminus A)^{**}\} \cap (X \setminus A)^{**} = \{X \setminus (X \setminus A)^{**}\} \cap (X \setminus A)^{**} = \{X \setminus (X \setminus A)^{**}\} \cap (X \setminus A)^{**} = \{X \setminus (X \setminus A)^{**}\} \cap (X \setminus A)^{**} = \{X \setminus (X \setminus A)^{**}\} \cap (X \setminus A)^{**} = \{X \setminus (X \setminus A)^{**}\} \cap (X \setminus A)^{**} = \{X \setminus (X \setminus A)^{**}\} \cap (X \setminus A)^{**} = \{X \setminus (X \setminus A)^{**}\} \cap (X \setminus A)^{**} = \{X \setminus (X \setminus A)^{**}\} \cap (X \setminus A)^{**} = \{X \setminus (X \setminus A)^{**}\} \cap (X \setminus A)^{**} = \{X \setminus (X \setminus A)^{**}\} \cap (X \setminus A)^{**} = \{X \setminus (X \setminus A)^{**}\} \cap (X \setminus A)^{**} = \{X \setminus (X \setminus A)^{**}\} \cap (X \setminus A)^{**} = \{X \setminus (X \setminus A)^{**}\} \cap (X \setminus A)^{**} = \{X \setminus (X \setminus A)^{**}\} \cap (X \setminus A)^{**} = \{X \setminus (X \setminus A)^{**}\} \cap (X \setminus A)^{**} = \{X \setminus (X \setminus A)^{**}\} \cap (X \setminus A)^{**} = \{X \setminus (X \setminus A)^{**}\} \cap (X \setminus A)^{**} = \{X \setminus (X \setminus A)^{**}\} \cap (X \setminus A)^{**} = \{X \setminus (X \setminus A)^{**}\} \cap (X \setminus A)^{**} = \{X \setminus (X \setminus A)^{**}\} \cap (X \setminus A)^{**} = \{X \setminus (X \setminus A)^{**} = \{X \setminus (X \setminus A)^{**}\} \cap (X \setminus A)^{**} = \{X \setminus (X \setminus A)^{**}\} \cap (X \setminus A)^{**} = \{X \setminus (X \setminus A)^{**}\} \cap (X \setminus A)^{**} = \{X \setminus (X \setminus A)^{**} = \{X \setminus (X \setminus A)^{**}\} \cap (X \setminus A)^{**} = \{X \setminus (X \setminus A)^{**}\} \cap (X \setminus A)^{**} = \{X \setminus (X \setminus A)^{**}\} \cap (X \setminus A)^{**} = \{X \setminus (X \setminus A)^{**}\} \cap (X \setminus A)^{**} = \{X \setminus (X \setminus A)^{**}\} \cap (X \setminus A)^{**} = \{X \setminus (X \setminus A)^{**}\} \cap (X \setminus A)^{**} = \{X \setminus (X \setminus A)^{**}\} \cap (X \setminus A)^{**} = \{X \setminus (X \setminus A)^{**}\} \cap (X \setminus A)^{**} = \{X \setminus (X \setminus A)^{**}\} \cap (X \setminus A)^{**} = \{X \setminus (X \setminus A)^{**}\} \cap (X \setminus A)^{**} = \{X \setminus (X \setminus$ $(X \setminus A)^* \cap (X \setminus A^*) = X \setminus [(X \setminus A)^* \cup A^*] = X \setminus [(X \setminus A) \cup A]^* = X \setminus X^* = \forall (A).$ 10. $[\wedge(A)]^* = [\psi(A) \setminus A]^* \subseteq (\psi(A))^* \subseteq (A^*)^* \subseteq A^*$, since $\mathcal{I} \cap \tau = \{\emptyset\}$. 12. $\wedge(A^*) = \psi(A^*) \setminus A^* \subset A^{**} \setminus A^*$ (since $\mathcal{I} \cap \tau = \{\emptyset\}$). Thus, $\wedge(A^*) \subset \mathcal{I}$ $A^* \setminus A^* = \emptyset.$ 13. Note that $\psi(A) \subseteq \psi(A \cup B)$ if and only if $(\psi(A) \setminus A) \setminus B \subseteq \psi(A \cup B) \setminus (A \cup B)$ if and only if $\wedge(A) \setminus B \subseteq \wedge(A \cup B)$. Therefore, $(\wedge(A) \setminus B) \cup (\wedge(A) \cap B) \subseteq$ $\wedge (A \cup B) \cup (\wedge (A) \cap B)$ and $\wedge (A) \subseteq \wedge (A \cup B) \cup (\wedge (A) \cap B)$. Analogously, $\wedge (B) \subseteq A$ $\wedge (A \cup B) \cup (\wedge (B) \cap A). \text{ So } \wedge (A) \cup \wedge (B) \subseteq \wedge (A \cup B) \cup (\wedge (B) \cap A) \cup (\wedge (A) \cap B).$

Theorem 2.12. Let (X, τ) be a topological space and \mathcal{I} and \mathcal{J} be two ideals on *X*. Then $\wedge [A(\mathcal{I} \cap \mathcal{J})] = \wedge [A(\mathcal{I})] \cap \wedge [A(\mathcal{J})].$

Proof. $\wedge [A(\mathcal{I} \cap \mathcal{J})] = \psi_{\mathcal{I} \cap \mathcal{J}}(A) \setminus A = \psi_{\mathcal{I}}(A) \cap \psi_{\mathcal{J}}(A) \setminus A = [\psi_{\mathcal{I}}(A) \setminus A] \cap [\psi_{\mathcal{J}}(A) \setminus A] = \wedge [A(\mathcal{I})] \cap \wedge [A(\mathcal{J}].$

Corollary 2.4. Let (X, τ) be a topological space and $\mathcal{I}_1, \mathcal{I}_2, \ldots, \mathcal{I}_n$ be ideals on *X*. Then $\wedge [A(\bigcap_i \mathcal{I}_i)] = \bigcap_i \wedge [A(\mathcal{I}_i)]$.

3 Mixed operators

Theorem 3.1. Let (X, τ, \mathcal{I}) be an ideal topological space and $A \subseteq X$. Then the following statements hold:

- $1. \ \overline{\wedge}(\underline{\vee}(A)) = X \setminus X^*.$
- 2. $\overline{\wedge}(\underline{\vee}(A)) = \emptyset$ if $\mathcal{I} \cap \tau = \{\emptyset\}$.
- 3. $\forall (\overline{\land}(A)) = \forall (A).$
- 4. $\forall (\land(A)) = X \setminus X^*$.
- 5. $\wedge(\forall(A)) = X^* \setminus X^{**}.$
- 6. $\wedge (\leq (A)) = \emptyset \text{ if } \mathcal{I} \cap \tau = \{ \emptyset \}.$
- 7. $\forall (\land(A)) = \emptyset$ if and only if $\mathcal{I} \cap \tau = \{\emptyset\}$.
- 8. $\overline{\wedge}(\wedge(A)) = \wedge(A).$

 $\begin{array}{l} \textit{Proof. 1. } \overline{\wedge}(\forall(A)) = (X \setminus X^*) \setminus (X \setminus X^*)^* = X \setminus [X^* \cup (X \setminus X^*)^*] = \\ X \setminus [X \cup (X \setminus X^*)]^* = X \setminus X^*. \\ 3. \forall (\overline{\wedge}(A)) = X \setminus X^* = \forall(A). \\ 5. \land (\forall(A)) = \land (X \setminus X^*) = \psi(X \setminus X^*) \setminus (X \setminus X^*) = (X \setminus X^{**}) \setminus (X \setminus X^*) = \\ X^* \setminus X^{**}. \\ 9. \overline{\wedge}(\land(A)) = \land(A) \setminus (\land(A))^* = (\psi(A) \setminus A) \setminus (\psi(A) \setminus A)^* = [\{X \setminus (X \setminus A)^*\} \setminus \\ A] \setminus [\{X \setminus (X \setminus A)^*)\} \setminus A]^* = [(X \setminus A) \setminus (X \setminus A)^*] \setminus [(X \setminus A) \setminus (X \setminus A)^*]^* = \\ [(X \setminus A) \cap \{X \setminus (X \setminus A)^*\}] \cap [X \setminus [(X \setminus A) \cap \{X \setminus (X \setminus A)^*\}]^*] = (X \setminus A) \cap [X \setminus \{(X \setminus A)^*\}]^* = (X \setminus A) \cap [X \setminus \{(X \setminus A)^*]^*] = (X \setminus A) \cap [X \setminus \{(X \setminus A)^*]^*] = (X \setminus A) \cap [X \setminus \{(X \setminus A)^*]^*] = (X \setminus A) \cap [X \setminus \{(X \setminus A)^*]^*] = (X \setminus A) \cap [X \setminus \{(X \setminus A)^*]^*] = (X \setminus A) \cap [X \setminus \{(X \setminus A)^*]^*] = (X \setminus A) \cap [X \setminus \{(X \setminus A)^*]^*] = (X \setminus A) \cap [X \setminus \{(X \setminus A)^*]^*] = (X \setminus A) \cap [X \setminus \{(X \setminus A)^*]^*] = (X \setminus A) \cap [X \setminus \{(X \setminus A)^*]^*] = (X \setminus A) \cap [X \setminus \{(X \setminus A)^*]^*] = (X \setminus A) \cap [X \setminus A) \cap [X \setminus A)^*] = (X \setminus A) \cap [X \setminus A) \cap [X \setminus A) \cap [X \setminus A)^*] = (X \setminus A) \cap [X \cap A) \cap [X \cap A) \cap [X \cap A) \cap [X \setminus A) \cap [X \cap A) \cap [$

From Example 2.1, the converse of Theorem 3.1(6) is not true, because: $X^* = \{b, c\}$ and $X^{**} = \{b, c\}^* = \{b, c\}$ but $X^* \neq X$.

Theorem 3.2. Let (X, τ, \mathcal{I}) be an ideal topological space and $A \subseteq X$. Then the following statements hold:

- $1. \ \ \forall (\land (\lor (A))) = X \setminus X^* = \forall (\lor (\lor (A))) = \forall (\overline{\land} (\land (A))) = \forall (\land (\overline{\land} (A))).$
- 2. $\overline{\wedge}(X \setminus X^*) = X \setminus X^* = \forall (A).$
- 3. $\overline{\wedge}(\forall(\wedge(A))) = \overline{\wedge}(X \setminus X^*) = X \setminus X^* = \forall(A).$
- 4. $\overline{\wedge}(\wedge(\forall(A))) = X^* \setminus X^{**}.$
- 5. $\wedge (\leq (\overline{\wedge}(A))) = X^* \setminus X^{**}.$
- 6. $\wedge(\overline{\wedge}(\forall(A))) = X^* \setminus X^{**}.$
- 7. $\overline{\wedge}(\wedge(\forall(A))) = \wedge(\forall(\overline{\wedge}(A))) = \wedge(\overline{\wedge}(\forall(A))).$

Proof. 2. $\overline{\wedge}(X \setminus X^*) = (X \setminus X^*) \setminus (X \setminus X^*)^* = X \setminus [X \cup (X \setminus X^*)]^* = X \setminus X^* =$ $\forall (A).$

3. This is obvious by 2 and Theorem 3.1.

4. $\overline{\wedge}(\wedge(\forall(A))) = \overline{\wedge}(X^* \setminus X^{**})$ (from (5) of Theorem 3.1) = $(X^* \setminus X^{**}) \setminus (X^* \setminus X^{**})^* = X^* \setminus [X^* \cup (X^* \setminus X^{**})]^* = X^* \setminus X^{**}.$ 5. By using Theorem 3.1(3) and Lemma 2.1, we have $\wedge(\forall(\overline{\wedge}(A))) = \wedge(X \setminus X^*) = \psi(X \setminus X^*) \setminus (X \setminus X^*) = (X \setminus X^{**}) \setminus (X \setminus X^*) = X^* \setminus X^{**}.$ 6. $\wedge(\overline{\wedge}(\forall(A))) = \wedge(\overline{\wedge}(X \setminus X^*)) = \wedge[(X \setminus X^*) \setminus (X \setminus X^*)^*] = \wedge(X \setminus X^*) = \psi(X \setminus X^*) \setminus (X \setminus X^*) = (X \setminus X^{**}) \setminus (X \setminus X^*) = X^* \setminus X^{**}.$ 7. This is an immediate consequence of 4, 5 and 6.

Corollary 3.1. Let (X, τ, \mathcal{I}) be an ideal topological space and $A \subseteq X$. $\forall (\land (\forall (A))) = \forall (\forall (\lor (A))) = \forall (\land (\land (A))) = \forall (\land (\land (A))) = \neg (\forall (\land (A))) = \neg (X \setminus X^*) = \emptyset$ if and only if $\mathcal{I} \cap \tau = \{\emptyset\}$.

Proof. The proof is obvious from Lemma 2.1, Theorem 3.2(3), and the fact that $X = X^*$ if and only if $\mathcal{I} \cap \tau = \{\emptyset\}$ [8].

Corollary 3.2. Let (X, τ, \mathcal{I}) be an ideal topological space and $A \subseteq X$. $\land (\trianglelefteq(\overline{\land}(A))) = \land(\overline{\land}(\trianglelefteq(A))) = \overline{\land}(\land(\lor(A))) = \emptyset$ if $\mathcal{I} \cap \tau = \{\emptyset\}$.

Proof. If $\mathcal{I} \cap \tau = \{\emptyset\}$, then $X = X^*$ and hence $X^* = X^{**}$.

Corollary 3.3. Let (X, τ) be a topological space and $\mathcal{I}_1, \mathcal{I}_2, \ldots, \mathcal{I}_n$ be ideals on *X*. Then the following hold:

- 1. $\forall (\land ([A(\bigcap_i \mathcal{I}_i)])) = \bigcap_i \forall (\land ([A(\mathcal{I}_i)])).$
- 2. $\wedge (\leq ([A(\bigcap_i \mathcal{I}_i)])) = \bigcap_i \wedge (\leq ([A(\mathcal{I}_i)])).$
- 3. $\forall (\overline{\land}([A(\bigcap_i \mathcal{I}_i)])) = \bigcap_i \forall (\overline{\land}([A(\mathcal{I}_i)])).$
- 4. $\overline{\wedge}(\forall([A(\bigcap_i \mathcal{I}_i)])) = \bigcap_i \overline{\wedge}(\forall([A(\mathcal{I}_i)])).$
- 5. $\wedge(\overline{\wedge}([A(\bigcap_i \mathcal{I}_i)])) = \bigcap_i \wedge(\overline{\wedge}([A(\mathcal{I}_i)])).$
- 6. $\overline{\wedge}(\wedge([A(\bigcap_i \mathcal{I}_i)])) = \bigcap_i \overline{\wedge}(\wedge([A(\mathcal{I}_i)])).$

Proof. The proof is obvious from Corollaries 2.2, 2.3 and 2.4.

Conclusions:

- This paper focuses on the roles of non-closure operator ()* and non-interior operator ψ on ideal topological spaces.
- More characterizations of Hayashi-Samuel spaces.
- Making new operators on the ideal topological spaces.

As a result of the study carried out, more application was developed with the help of ()^{*}, ψ and their related operators. Furthermore we have developed many characterization of the Hayashi-Samuel spaces.

Acknowledgement: The authors are thankful to the referee for his/her valuable comments.

References

- A. Al-Omari and H. Al-Saadi, A topology via ω-local functions in ideal spaces, Mathematica, 60(83), (2018), 103-110.
- [2] A. Al-Omari and T. Noiri, On ψ_* -operator in ideal m-spaces, Bol. Soc. Paran. Mat. (3s), **30**(1), (2012), 53-66.
- [3] A. Al-Omari and T. Noiri, *Local closure functions in ideal topological spaces*, Novi Sad J. Math., **43**(2), (2013), 139-149.
- [4] A. Al-Omari and T. Noiri, On operators in ideal minimal spaces, Mathematica, 58 (81), No. 1-2 (2016), 3-13.
- [5] C. Bandhopadhya and S. Modak, *A new topology via* ψ *-operator*, Proc. Nat. Acad. Sci. India, **76**(A) IV, (2006), 317-320.
- [6] J. Dontchev, Idealization of Ganster-Reilly decomposition theorems, arX-IV:math. Gn/9901017v1, 5 Jan 1999.
- [7] J. Dontchev, M. Ganster and D. Rose, *Ideal resolvability*, Topology Appl., 93, (1999), 1-16.
- [8] T. R. Hamlett and D. Janković, *Ideals in topological spaces and the set operator* Ψ, Boll. Un. Mat. Ital., 7(4-B), (1990), 863-874.
- [9] H. Hashimoto, On the *-topology and its applications, Fund. Math., 91, (1976), 5-10.
- [10] E. Hayashi, *Topologies defined by local properties*, Math. Ann., **156**, (1964), 205-215.
- [11] D. Janković, T. R. Hamlett, New topologies from old via ideals, Amer. Math. Monthly, 97, (1990), 295-310.
- [12] K. Kuratowski, Topology, Vol. I, New York, Academic Press, 1966.
- [13] N. Levine, Semi-open sets and semi-continuity in topological spaces, Amer. Math. Monthly, 70, (1963), 36-41.
- [14] S. Modak, Some new topologies on ideal topological spaces, Proc. Natl. Acad. Sci., India, Sect. A Phys. Sci., 82(3), (2012), 233-243.

- [15] S. Modak and C. Bandyopadhyay, *A note on* ψ *-operator*, Bull. Malays. Math. Sci. Soc., **30**(1), (2007), 43-48.
- [16] S. Modak and T. Noiri, Some generalizations of locally closed sets, Iran. J. Math. Sci. Inform., 14(1), (2019), 159-165.
- [17] T. Natkaniec, On I-continuity and I-semicontinuity points, Math. Slovaca, 36(3), (1986), 297-312.
- [18] R. L. Newcomb, *Topologies which are compact modulo an ideal*, Ph. D. Dissertation. Univ. of Cal. at Santa Barbara, 1967.
- [19] O. Njastad, *Remarks on topologies defined by local properties*, Avh. Norske Vid. Akad. Oslo I(N.S), 8, (1966). 1-16.
- [20] P. Samuel, *A topology formed from a given topology and ideal*, London Math. Soc., **10**, (1975), 409-416.
- [21] R. Vaidyanathswamy, *The localization theory in set-topology*, Proc. Indian Acad. Sci., **20**, (1945), 51-61.